Bridge at the Lunatic Fringe --  Number   26 – 

A tale of two Jacks
The following hand generated a great deal of discussion when it was played in an important international tournament.
♠KJ  ♥AKQ74   ♦872 ♣AK4
With your side Vulnerable, against nonVul opponents, North, your partner opens One Spade, and the next hand, your RHO bids 2NT… unusual for the minors.  You now bid three clubs, a convention known as “Unusual over unusual”.  When the opponents’ two suits are known (clubs and diamonds in this case), your bid of one of their suits shows a good hand.  Bidding the lower-ranking of their two suits shows a good hand with the  lower ranking of the other two suits, and similarly, bidding the higher-ranking of their suits shows the higher ranking of the other two.
So the 3 Club bid in this case showed a good hand (game forcing) with hearts, while a direct bid of 3 Hearts would be non-forcing, with a good heart suit.

Over your 3 Club bid, LHO jams the auction by jumping to 5 Diamonds, which is passed around to you.  So the bidding has been:

West
North
East
South


1♠
2NT
3♣
5♦
Pass
Pass
???
Before deciding on an action, lets consider the implications of  the bidding thus far  (there are many).    RHO presumably has 5-5 or more in the minors.  His partner jumped to 5 diamonds, and we have three of them.  Surely partner is short in diamonds…  either singleton or void.

Partner’s pass of  5♦ implies some heart support.  With heart shortness, he would likely have doubled the 5♦ bid.  On the other hand, he almost surely does NOT have as many as four heart cards, for then he would surely have bid 5♥ himself.
What does partner have for his opening bid?  Outside of the diamond suit, there are only 10 HCP available… the A and Q of spades, J of hearts, and the Q and J of clubs.  With such soft values outside the spade suit, it doesn’t look like an opening bid… maybe a weak two bid or a preempt of 3 or 4.  (Well maybe with a diamond void, the 10HCP qualifies as a 1♠ opening.)
Most likely, partner has a singleton diamond honor… the Ace or King.

In any case, with your 20 HCP, and partner’s diamond shortness, a slam looks certain opposite partner’s opening bid.  But what strain?  Hearts or Spades?  And what about the possibility of a grand slam?
With this analysis in mind, most of the expert opinion preferred a bid of 5NT, intended to solicit partner’s help in picking the best strain, implying some help in spades, or a heart slam if partner liked his support for that suit.  This use of the 5NT bid is often referred to as “pick a slam”.  And that bid  leaves room for partner to cue bid 6♦, with a void or singleton Ace in that suit.  After the cue bid, you would ask partner to pick again… at the 7-level.
Professor Lobochevski did not agree with this approach, feeling that the South hand should plan to commit the hand to playing a Spade contract.   Possession of the spade Jack was critical in his opinion.  With this in mind,   he preferred a cue bid of  6♣, which even more strongly encouraged partner to cue bid 6♦ in return.

Why did the professor make this unilateral choice of strain?  Well, it seemed quite likely that the partnership did not have better than an eight card fit in either major.  If that were the case, then at least one of the major suits was GUARANTEED to break badly.  (The unusual NT bidder had to have a singleton or void in at least one of the majors.)   So control of the fourth round of trumps was critical, and hence the importance of the spade Jack.  
If you could know for sure that partner had the Heart Jack for his (hypothetical) heart preference, then hearts might be an acceptable strain.  But there’s no way to find that out.    Missing the heart Jack, a 5-2 spade fit might even play better than a 5-3 heart fit.   With a hand like  ♠AQTxxx  ♥xxx   ♦A ♣Jxx, partner would likely choose hearts, and the inferior 7 heart contract would need a 3-2 heart break, while 7 spades could survive even a 5-0 spade break.
Furthermore, there is a very good chance that partner has more spades than the 5 promised  by his opening bid.  Given some presumptions previously discussed, partner is expected to have no more than one diamond, and no more than three hearts.  Assume further that he does not hold as many as 8 spades (with such a long suit, his bidding would likely be different).  Together, these assumptions imply that partner must have at least 2 clubs.  So, as a worst case, we’re envisioning partner’s hand with 5+ spades, 3 hearts, 1 diamond, and 2+ clubs.  The remaining 2cards (spades and/or clubs) come out of a pool of cards not yet accounted for… 6 spades and 3 clubs.  (7 spades accounted for… partner’s 5, my 2.  10 clubs accounted for…RHO’s 5, partner’s 2, my 3).  We don’t need to do a combinatorial analysis to see that there are many more ways to finish off partner’s hand with one or two more spades, than there are with exactly two clubs.
In actual practice, the South player bid 5NT, and North took a preference to 6 Hearts.  The full hands were:

Dealer:  North
Vulnerability:  N-S
NORTH

♠ AQ8763
♥ JT
♦ K
♣ Q752
WEST 
EAST

♠ 942
♠ T5
♥ 98532
♥ 6
♦ A943
♦ QJT65
♣ 3
♣ JT986
SOUTH

♠ KJ
♥ AKQ74
♦ 872
♣ AK4
West
North
East
South




1♠
2NT
3♣


5♦
Pass
Pass
5NT



Pass
6♥
Pass
Pass



Pass
Opening lead:   ♦Q
With the diamond lead to the Ace, West continued diamonds, forcing a ruff with the J or T, and setting up the ♥9 as the setting trick.

It is difficult to fault North for taking the Heart preference.  After all, if South had a small spade instead of the Jack, and a 6th heart as well, then a Heart contract would be safer against a bad major suit break.
In summary, only South knows about the possession of the ♠J.  That important information should be enough to choose Spades as the strain, without leaving the choice to partner.

